1 A factory put cakes into boxes of 6. How many boxes can they fill with 3285 cakes?	2 A factory puts 6 pencils in a pack. How many full packs can the makes with 5310 pencils?
3 A farmer has 1843 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs?	4 645 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket?
5 A factory put cakes into boxes of 8. How many boxes can they fill with 3285 cakes?	6 A factory put cakes into boxes of 5. How many boxes can they fill with 3287 cakes?
7 A factory puts 8 pencils in a pack. How many full packs can the makes with 5310 pencils?	A farmer has 18438 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs?
8 1645 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket?	9 1647 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket?

1 A factory put cakes into boxes of 6. How many boxes can they fill with 3285 cakes? 547	2 A factory puts 6 pencils in a pack. How many full packs can the makes with 5310 pencils? 885
3 A farmer has 1843 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs? 308	4 645 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket? 162
5 A factory put cakes into boxes of 8. How many boxes can they fill with 3285 cakes? 410	6 A factory put cakes into boxes of 5. How many boxes can they fill with 3287 cakes? 657
7 A factory puts 8 pencils in a pack. How many full packs can the makes with 5310 pencils? 663	A farmer has 18438 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs? 3037
8 1645 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket? 412	9 1647 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket? 412

1 A factory put cakes into boxes of 8. How many boxes can they fill with 7655 cakes?	2 A factory puts 6 pencils in a pack. How many full packs can the makes with 5817 pencils?
3 A farmer has 1640 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs?	4 2145 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket?
5 A factory put cakes into boxes of 8. How many boxes can they fill with 45677 cakes?	6 A factory put cakes into boxes of 5. How many boxes can they fill with 21187 cakes?
7 A factory puts 8 pencils in a pack. How many full packs can the makes with 53810 pencils?	A farmer has 18438 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs?
8 1887 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket?	9 1998 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket?

1 A factory put cakes into boxes of 8. How many boxes can they fill with 7655 cakes? 956	2 A factory puts 6 pencils in a pack. How many full packs can the makes with 5817 pencils? 969
3 A farmer has 1640 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs? 274	4 2145 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket? 537
5 A factory put cakes into boxes of 8. How many boxes can they fill with 45677 cakes? 5709	6 A factory put cakes into boxes of 5. How many boxes can they fill with 21187 cakes? 4237
7 A factory puts 8 pencils in a pack. How many full packs can the makes with 53810 pencils? 6726	A farmer has 18438 eggs. A box takes 6 eggs. How many boxes will he need to transport all the eggs? 3073
8 1887 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket? 472	9 1998 people are travelling on a ship. Life jackets come in packs of 4. How many packs are needed so that everyone has a life jacket? 500